
Monday Tuesday Wednesday Thursday Friday 

What is the name of 

a shape with this 

number of sides? 

3 

4 

5 

 

Put these in 

ascending order: 

369.4x10 

826.4x100 

622.4x10 

286.3x100 

 

Put these in 

descending order: 

8.1÷10 

8.4÷100 

1.9÷10 

3.4÷100 

 

What are these as 

mixed numbers? 
17 / 9 
9/5 

What is the name of 

a shape with this 

number of sides? 

6 

7 

8 

 

Put these in 

ascending order: 

643.3x100 

626.1x10 

872.1x100 

129.7x10 

 

Put these in 

descending order: 

93.1÷100 

85.2÷10 

32.1÷100 

67.2÷10 

 

What are these as 

mixed numbers? 
8 / 7 
12/8 

What is the name of 

a shape with this 

number of sides? 

9 

10 

20 

 

Put these in 

ascending order: 

624.1x100 

937.1x1000 

449.7x100 

310.4x1000 

 

Put these in 

descending order: 

845.2÷100 

652.1÷1000 

945.2÷100 

436.3÷1000 

 

What are these as 

mixed numbers? 
19 / 7 
14/6 

What are the names 

of these shapes? 

 

 

 

 

 

Put these in 

ascending order: 

6476.1x1000 

6412.1x100 

9744.2x1000 

6132.4x100 

 

Put these in 

descending order: 

9.4÷1000 

1.4÷100 

6.1÷1000 

2.9÷100 

 

What are these as 

mixed numbers? 
14 / 5 
23/9 

What are the names 

of these shapes? 

 

 

 

 

 

Put these in 

ascending order: 

62475.8x10 

63281.4x100 

78521.6x1000 

65477.8x100 

 

Put these in 

descending order: 

32.1÷10 

52.1÷100 

47.8÷1000 

52.3÷100 

 

What are these as 

mixed numbers? 
11 / 3 
13/4 



 

Give an angle that 

would be: 

Acute 

Obtuse 

Reflex 

 

Calculate: 

1634x3 

2356x4 

2578x5 

3032x6 

 

Calculate: 

1068÷3 

1112÷4 

1745÷5 

1698÷6 

 

What is the 

difference between? 

-4 and -9 

-14 and -6 

-17 and -32 

 

Give an angle that 

would be: 

Acute 

Obtuse 

Reflex 

 

Calculate: 

4856x7 

8485x8 

3623x9 

4247x3 

 

Calculate: 

3325÷7 

4664÷8 

4473÷9 

1563÷3 

 

What is the 

difference between? 

-9 and -3 

-15 and -7 

-21 and -18 

 

Give an angle that 

would be: 

Acute 

Obtuse 

Reflex 

 

Calculate: 

8124x4 

8064x5 

4275x6 

3524x7 

 

Calculate: 

2472÷4 

3695÷5 

3762÷6 

5222÷7 

 

What is the 

difference between? 

-6 and -24 

-34 and -66 

-58 and -39 

 

Give an angle that 

would be: 

Acute 

Obtuse 

Reflex 

 

Calculate: 

4934x8 

6424x9 

7225x3 

9047x4 

 

Calculate: 

6648÷8 

8343÷9 

2538÷3 

3832÷4 

 

What is the 

difference between? 

-46 and -92 

-14 and -68 

-73 and -32 

 

Give an angle that 

would be: 

Acute 

Obtuse 

Reflex 

 

Calculate: 

9356x5 

6447x6 

1009x7 

1215x8 

 

Calculate: 

1325÷5 

2244÷6 

3381÷7 

4736÷8 

 

What is the 

difference between? 

-67 and -29 

-146 and -65 

-167 and -28 

 

Score: Score: Score: Score: Score: 


